Total No. of Printed Pages—11
// ":_,:é__.;_\', \"

s =\
N AN
2020 ( g |
: i 71 ’
: A Fxa)
COMMERCE \. . £/
KR AT e

( General/Speciality ) R

Course : 202
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The ﬁgu.res in the margin indicate full marks
for the questions -

’( New Course )

Full Marks : 80
Pass Marks : 24

1. oo fardRa o sepft Teq fram 2 1x8=8
Answer the following as directed :
(@) TR GEME T Reifie «feq s RSaeT |
(= (7 oy forsl )

Price mechanism 1is based on two
opposite forces. b
( Write True or False )



(2 )

(b) AR I oA el T |
(1@l 97 239 w41 )

Business economics is also known as
( Fill in the blank )

(c) @b 7Y wifm e
~Demand for a commodity means
(i) T 2lfS 21 SIS
- desire for a commochty
{il) W WFMWT :
G 'need for a commod1ty

-f (”l) W ﬁf\‘w Errfrf\— wna? —iiw o]

.«.'ﬁ’"vfidemre for a commodlty backed by
- ability to pay for it

(iv) @Fﬁ abre =
o None of the above

(a Tach1 1 St )

~ (Choose the‘ correct answer )

(d) viEwE o RBfeweR @ereE S S/
T

(= Taqeo! 1D Tfored )

Perfect elasticity of demand curve is
parallel/vertical to the base.

( Choose the correct answer )

E L o0p -
R .,-.‘I;810 ( Continued )



(3)

fe) TRARA TR o q e A
AR
(& SR 2 T4 )
Production function shows the
relationship between and

( Fill in the blanks )

() TR (91 OfX/ TR SR TS |
( %Wﬂfﬁ%‘%@m)

Iso- product curve is parallel to the
base /vert1cal 11ne |

( Choose the correct answer )

(9) ‘@wm—uﬂwmm@awﬁﬁw
GRS 2 '

-Which form of market cannot determine
price of the commodity?

(h) S ZFFEAR {F TR 1§ @ |
(% 7] SR, for )

Very short-run price is known as
normal price.

( Write True or False )

( Turn Over )




5. wo ePICAR B bed el 4x4=1¢

Answer the following questions in brief :

(@ [l s NERSIGEIRGEIN
Write four characteristics of business
eCconomics.

(b)  viiRwR RS TR e See T F 4
Discuss about various types of demand.

(c) - (TR S T (T G TR
&2

What are the - differences between
iso-product line and iso-cost line?

(d) o AfSCAIAeES TaR CIfFEPTER Seay 9 |

Mention the characteristics of perfect
competition.

3. (o) Jffs SAifer o433 S A SeTs
4 | 14

Discuss the mnature and scope of
business economics.

qZT / Or

(b) AT ALMfoS “AfvEe qeew Sfiw wIF
TR T 41 | 7 7=14

Explain the role and responsibilities of &
manager in business economics.




(5)

4 (a) iR T RIGEAFO oo Geld AP
Rfvg vl o GFels T FOEre B
foap1z SIceToal T | 4+10=14 .
What is price clasticity of demand?
Discuss the elasticity greater than one
and the elasticity less than one with

diagram.
1331 / Or

() fE LTS @ BT 9Py S 7

@ gl e <1 SAMIPTR SHCEeeTl
91 | | 6+8=14

What is the importance of elasticity of
supply in business economics? Discuss
the factors determining elasticity of

supply.

5. (o) SAme ceb W [ AN-TRAME (RN ffsa
CRMEPTR 10 41 | 2+12=14

What is factor combination? Explain
different properties of iso-product curve.

§13<1 / Or
(b) FE-BRAMH @ SRS Teoe  gffere-f{fd
STCETo 4T | 14

Discuss the law of returns to Scale with
the help of iso-product curve.

20?1810 | ( Turn Over )
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(6 )

6. (a) TPW oS @ TA SerErE R g
S S NS T AR TS T “Afsorm
QA ATA SIS e,
SIAIRCEIA | - 4+10=14
What are the basic objectives of a
business firm? Explain how 2 firm
attains equilibrium with the help of total
revenue and total cost approach.

- R/ or

(b) effﬁﬁﬁﬂﬁﬁaqa¢‘¢ﬁﬁs'@ﬂa oS 1 =
49 AR SRAM. Te fogd SRS R
I R R ' 4+10=14
Why is a ﬁ'fm price-taker under perfect
competition? Explain the equilibrium of
a ﬁrmlunder perfect competition in the
long-run with suitable diagram.

( Continued )



(7))

( Old Course )

Full Marks : 89
Pass Marks : 32

1. oo faaRe ot wepifd Ted 1x8=8

Answer the following as directed :

(a) e SefRfes i R T Sl e 2

What 1s the another name of ousmess
econo*mes known as’r’

e vf\aﬁt‘z%m 5 ,f“_(_@% o o4 )

Busmess . economlcs . is  specially
assoc1a.ted Wrth the business firms.

( Write True or False )
(c) &S srfim ﬁm‘z@ aﬁ T (R GPIHRE
Y | (W% o Sy (o3 )

One of the factors of market demand 1s
income of the people.

( Write True or False )
(d) < BiogeR i @4 qUR SRS 41 |
Draw a perfectly elastic demand curve.
(e) TR T {9 2

What is production function?

20P/810

( Turn Over )



(8 )

() SO TS S|l 2fERl TR 201 9

How many production firms are there in

a monopoly market?
(g S IFFA TS el 79 (10T |
(o ¢ oy fora )
Very short-run price is known as

normal price. |
( Write True or False )

(h) &3 TR OTF‘@W °ff 2SS TGS
ﬁﬁaﬂ%ﬂﬂww j W‘WWI
- (TS OR AFFT)

A produc’uon ﬁrm under perfect

competition i1 the long-run. earns

profit only. = -
5 ' ( Fill in the blank )

2. O @RS O Teq fumr 4x4=16

Answer the following questions in brief :

(@) <fifere wifes e form |

Write on business economics.

(b) itz iR fore |

State the law of demand.

(c) RN T RIS 372 =47 |

Explain the law of increasing returns to
scale.

. QQP/ 810 ( Continued )



(9)

() e Reaser e qf3 froaier e
GIREONE Il
Distinguish between internal economies
and external economies.

3. (q) JARTE FLARS W Rr[ee LRSS T3
Ry T S AL Tere Al A
SHICETOAT ST | 6+8=14

Discuss the relationship between
business economics and traditional
economics and also distinguish between
them.

1231 / Or

(b) ffErE e Ragge & 2 fdfers
SR RfSH TPIPHE SCen 11 4+10=14

What are the subject matters of
business economics? Discuss the

various problems of business
€economics.

4. (o) O fEfSzrme fee & @ wiwe w®
Eforrmes [fen e faa B
SICEEA] <57 | 4+10=14

‘What do you mean by elasticity of
demand? Discuss different types of

price elasticity of demand with
diagrams.

20P/810
/ ( Turn Over )



( 10 )

~iz41 / Or
g (el 7 Al Biazeree frefy

91 SIIPTRS ErrcllGICRIEIN 4+10=]4

(D)

What is elasticity of supply? Discuss the
factors determining elasticity of supply.

wRgEaAe e RfAGH Tge e e
SRS | 14

tn
| td
N

Explain the law of variable proportions
with the help of suitable diagram.

<1/ Or
(b) ST @ e [ S-S (@9
24 (APBPTE AT 40 1 4+10=14

What is iso-product curve? Explain the
main characteristics of iso-product
curve.

6. (o) =9 dfScfrorEe TRy @REPE 72
weeES o feefienEe JuRe SR ™
e e Ba s w1 6+e=14

What are the characteristics of perfect
competition? Explain the equilibrium
price determination in the long-run

under perfect competition with the help
of suitable diagram:.

,_ ,_420P’/8 10 ( Continued )



( 11 )

~NiZqr / Or
QPFebfEy TEIg Nie e R x| B

G SR S
4+10=14

(D)
wyglee @i SARBIET ¢
4, SCEA] Al |
What is monopoly? Discuss how a firm

altains equilibrium in the short-run

under monopoly.
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